
2nd Grade Worksheet

1. Add the following numbers:

(a) 7 + 5 =

(b) 12 + 8 =

(c) 23 + 15 =

2. Subtract the following numbers:

(a) 9− 4 =

(b) 18− 9 =

(c) 30− 12 =

3. Solve the word problems:

(a) Mia has 5 apples. She buys 7

more. How many apples does

she have now?

(b) Tom had 20 candies. He gave 8

to his friends. How many can-

dies does he have left?

4. Identify the shapes:

(a) A shape with 4 equal sides and

4 corners:

(b) A shape with 3 sides and 3 cor-

ners:

5. Compare the following:

(a) Which is longer: a pencil (15

cm) or a ruler (30 cm)?

(b) Which is heavier: an orange

(200 g) or a watermelon (3 kg)?

6. Complete the patterns:

(a) 2, 4, 6, , ,

(b) 4, ,4, , ,

7. Read the clock and write the time:

(a) (Draw an analog clock showing

3:00)

(b) (Draw an analog clock showing

7:30)

8. Look at the bar graph and answer:

(Draw a simple bar graph: Apples =

5, Bananas = 3, Oranges = 7)

(a) How many oranges are there?

(b) Which fruit is the least?
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Solutions

1. Add the following numbers:

(a) 7 + 5 = 12

(b) 12 + 8 = 20

(c) 23 + 15 = 38

2. Subtract the following numbers:

(a) 9− 4 = 5

(b) 18− 9 = 9

(c) 30− 12 = 18

3. Solve the word problems:

(a) Mia has 5 + 7 = 12 apples.

(b) Tom has 20 − 8 = 12 candies

left.

4. Identify the shapes:

(a) A shape with 4 equal sides and

4 corners: Square

(b) A shape with 3 sides and 3 cor-

ners: Triangle

5. Compare the following:

(a) The ruler (30 cm) is longer.

(b) The watermelon (3 kg) is heav-

ier.

6. Complete the patterns:

(a) 2, 4, 6, 8, 10, 12

(b) 4, ,4, ,4,

7. Read the clock and write the time:

(a) 3:00

(b) 7:30

8. Look at the bar graph and answer:

(a) There are 7 oranges.

(b) Bananas are the least.
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